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wiE% HEESEERIES
% g R - IR B 2 il * % =

[ERET 137,187,900 + 15, 205, 421 152, 393, 321
EEAGE 137,187, 900
EERE 15, 205, 421
Z Ot R 1 137,187,900 x 42.86% ( 30% + (1 — 30% ) ) 58, 798, 733
BRI 152,393,321 + 58,798,733 211,192, 054
—REEEE 211,192,054 x 53.85% ( 35% + (1 — 35%) ) — 8,975 113,717, 946
el 211,192,054 + 113,717, 946 324,910, 000
HEREHRLE 324,910,000 x 10.00% 32,491, 000
EBEEH 324,910,000 + 32,491,000 357,401, 000




HBERARE WSS EBEER
E f7) K - BART R B £ i & % m =
BRI 152, 393, 321
HEASEBWMBER 152, 393, 321
HEEBSEBWMMER 152, 393, 321
HEEEERRHMER 137, 187, 900
R EES 136, 383, 300
1 EBMBETS 24.00 5,214, 940 125, 158, 560
A
2 BEEWHBER % (R7.4.1~R8.3.31) 12.00 935, 395 11, 224, 740
A
At 715, 200
3 A 24.00 29, 800 715, 200
[=]
i - |E 89, 400
4 5 - WE BEFHE) 1.00 29, 800 29, 800
=
5 i - T (hREE) 1.00 29, 800 29, 800
=R
6 i - WME (EHTTH) 1.00 29, 800 29, 800
=
EERE 15, 205, 421
EHERARE 1, 343, 807
1 EHERARE 1.00 1,343, 807 1, 343, 807
=




BEANRE A AL B RES
% # IR - okt B % 8 il £ & B E

BERERRE 2,687,614

8 EEHERRE 1.00 2,687,614 2,687,614
=

EEAEDEERA L UBEES 4,800, 000

) ¥HABBEEHS S VEEESE 1.00 4,800, 000 4,800, 000
=

EEREREERS L UBRES 6, 174, 000

10 ¥BAERZEEHNBLURRES R7.4.1~R8. 3. 31 1.00 3,204, 000 3,204, 000
=

1 ¥BHAERZEEHSLURRES R8.4.1~R9. 3. 31 1.00 2,970, 000 2,970, 000
=

R 200, 000

12 E£HERE R 1.00 200, 000 200, 000
=




KRER-EL/ Svr—2 ME SR EREES
&5 1
£ BEBHEER IED,
4 b g - kT BfL #H = B & % = & =
HER (A)
A 1.40 59, 600. 00 83, 440
HEm (C)
= 1.00 5,131, 500. 00 5,131, 500
& H 1E%HEH : 1.008 5,214, 940. 00 5,214, 940
5:2
B EEMBES R® (R7.4.1~R8.3.31) :E
4 kg R - BKTiE BAL H B B & % = 5 &
HEm (C)
= 1.00 935, 395. 00 935, 395
=) B YEZ8EH : 1.008 935, 395. 00 935, 395
5 :3
2% TEE HEED)
4 b g - kT BfL #H = B & % = & =
HEm (A)
A 0.50 59, 600. 00 29, 800
& B YEZEHEH : 1.00[EH 29, 800. 00 29, 800
=4
& HE - mE GGFH) 1KLY
4 b R - MART & BfL B 2 B M & % W = 5 &
HEm (A)
A 0.50 59, 600. 00 29, 800
=) G E%8EH : 1.00= 29, 800. 00 29, 800




RER-FEI/ Svr—2 RS BREERE
ES:5
L % - e (hRIE) 15ty
3 # 1B - AR A B 7 B ff i 1 % =
BEF (A)
A 0.50 59, 600. 00 29, 800
= B YEZEREH - 1.00=K 29, 800. 00 29, 800
=56
L B - BE (ZBEETHE) Ee)
% # B - kA Bf B B %8 i % =
HER (A)
A 0.50 59, 600. 00 29, 800
= B EZ¥8EH - 1. 00X 29, 800. 00 29, 800
5.7
2 EBRARE ES)
3 7 I - kT B B B ff % " % =
EBERARE
= 1.00 1,343, 807. 00 1, 343, 807
= B YEZEREA - 1.00=K 1,343, 807.00 1, 343, 807
ES:8
2 BEREREE EX L)
3 #fr\ - kA B B B @ P 1 " =
EEMEREE
= 1.00 2,687,614.00 2,687,614
= it YEZEREA - 1.00=K 2,687,614.00 2,687, 614




RER-FEI/ Svr—2 RS BREERE

59
& EXABPESHP LV EELRES 1K%Y
4 kg g - R & =R B =B B & B W = g &
XA HEENS L VELRES
= 1.00 4,800, 000. 00 4,800, 000
=) it EZREH - 1. 00K 4,800, 000. 00 4, 800, 000
&5 10
£ EBAEKEEHNSLUHERESE R7. 4 1~R8.3.31 B
£ kg R - BARTiE =R (72 B = B ks 2 W = g &
XA BEENPLUVERES
= 1.00 3,204, 000. 00 3,204, 000
& it 1E%8EH : 1.00K 3,204, 000. 00 3,204, 000
&5 1
WM EFXAEHREERSLUHERESE R8.4.1~R9.3.31 IEED)
4 b R - KTiE BT #H = B ff & %8 w = & =
(XA BEENB LUV ERES
= 1.00 2,970, 000.00 2,970, 000
& it EZEHEH : 1.00K 2,970, 000. 00 2,970, 000
BHBE 12
2% EBHRER 1LY
£ kg R - BARTiE =R (72 B = B ks 2 W = g &
EBERRERE
= 1.00 200, 000. 00 200, 000
& it 1EZX8EH : 1.00= 200, 000. 00 200, 000




